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underweight
ridiculous
retire

bitter
empire
significant
expand
conquer

integrate
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1 one another Mz Zdsict

2 Let’s . o A8l SAICE

3 a time and effort A& o A2t =

4 he will succeed. L7t k=t J= M3t
Z0|LCt,

CHS 222 235 2MoiM T2 HE I=2A|L,

1 He decided to ( satire / retire ) early because of poor health.
2 What’s this? Did David ( spill / spell ) all the popcorn on the floor?

3 Dorothy sat on her mother’s ( lap / rap ) and smiled for the camera.

4 He is very ambitious, so he is not ( content / consent ) with small successes.
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1 conquer - + having a lot of lines on one’s skin because of old age
2 sue . - suited for something or useful for a task

3 wrinkled - - get control over a country after winning a war

4 applicable - - take legal action to get money from someone who

has harmed you



uniT@@  Grammar Test 1

later vs. latter / 7P88 117

1 Of the two suggestions, | prefer the ( later / latter ).

2 She became ill in 1993 and died two years ( later / latter ).
3 Isaw herin a shopping mall a couple of days ( later / latter ).

4 | prefer the former image to the ( later / latter ) because it’s more colorful.
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1 As | don’t know how to play this game, | can’t join you.

=If how to play this game, | you.

2 As the lecture was not helpful, | didn’t pay full attention to it.

= the lecture helpful, | would

full attention to it.

C O3S UL YXSIE=Z FOITI TS H85H 2EIS MG,
1 ZXh= HIXE 250t A0E JHX|2 LY, (late)
— The has a similar culture and language.
2 =2 302 2ol =alofl =23 (late)
— They reached the town half an hour
3 L X7 2% LK AUCHH, HollM HE o2l 2 5 S Hidl. (be, pick)

— my car out of order, |

you up at the station.



later vs. latter / 7P 1t/

uniT@@  Grammar Test 2

O CI3 2|2t UX[GI=E T2 LS HIEH| HISSIAIR,
1 =X 382 £H2 2001M 40HME Afo|2 FIISHCE  xiz10
(between 20 and 40 percent / of the latter group / increased / the life span )
2 Lk= =1 Al B0f Metigh 245 F WAL L= SXIE MEIICE
| was asked to
( between money and love / chose / the latter / | / choose )
3 = Juet ZSEX| H2E JSX| 260k 3Lt O= SXIE MEHHC
He had to :
(or stay single / chose / he / whether to marry her / decide / the latter)
4 Bk L7t OSS nASHIH U J0F D 2E[8 = IS A0ICt e
If |
(and retire / them / quit working /| / sued / could)
5 ok U7t EOI2IH L= FARE SHILI?
If
(were / what / you / in my place / would you do )
6 U7} MFEX| LUACHA, L= =US Aolct,
If |
( have been / had not/ |/ would / late / hurried )






